PI.	ANT	ENTER	PRISES	PRODUCTION
\mathbf{L}		יועו דועו		

	<u> </u>	LANT ENI	<u>TERPRISES PROD</u>	<u>DUCTION</u>		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						
Pulpwood						
Pine				461,880	cords	
Hardwood				40,802	cords	
Pulpwood (Total)				502,682		
Chip & Saw				13,381	cords	
Saw Timber						
Pine				104,120,473	board feet	
Hardwood				2,966,009	board feet	
Saw Timber (Total)				107,086,482		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	,					\$84,967,121
Total Forestry Stumpage						\$48,873,998
Christmas Trees	*			300	trees	\$12,000
Pine Straw	*			10,000	bales (40 lbs.)	\$20,000
Forestry (Total)					, ,	\$84,999,121
FRUITS						
Blueberries	*	5.0	2,750.00	13,750	lbs.	\$17,188
Mayhaws						
Native	9	25.0	60.00	1,500	lbs.	\$1,500
Mayhaws (Total)		25.0				\$1,500
Peaches	*	5.0	50.00	250	bu.	\$7,500
Fruits (Total)		35.0				\$26,188
HAY FOR SALE						
Grass	45	600.0	1.25	750	tons	\$37,500
Hay for Sale (Total)		600.0				\$37,500
HOME GARDENS VEGETABLES	1,100					\$330,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Irish Potatoes						
Fresh	12	6.0	150.00	900	cwt.	\$31,500
Irish Potatoes (Total)		6.0				\$31,500
Tomatoes (Field)	7	8.0	1,500.00	12,000	lugs (20 lbs.)	\$216,000
Watermelon	*	75.0	180.00	13,500	cwt.	\$108,000
Vegetables (Total)		89.0		·		\$355,500
TOTAL ALL PLANT ENTER	PRISES					\$85,748,309

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Catfish (Farm)	*	12 Acres in Prod.	1,250	lbs.	\$850
Minnows	*	2 Acres in Prod.	500	lbs.	\$1,625
Aquaculture (Total)					\$2,475
FUR ANIMALS			443	pelts	\$3,252
ALLIGATORS (WILD)				ft.	\$788
HUNTING LEASES					
All Other Game	170	260,000 No. Acres		acre	\$1,430,000
		Leased			
Hunting Leases (Total)					\$1,430,000
HONEY	*	65 No. Hives	6,400	lbs.	\$4,736
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES				\$1,441,250

ANIMAL ENTERPRISES PRODUCTION

Number of Units of Total Units of								
Animal	Producers	Production	Production		Gross Farm Value			
CATTLE & CALVES								
Steer Calves								
300-400 lbs.			3,050	head	\$1,350,815			
400-500 lbs.			2,100	head	\$1,060,101			
500-600 lbs.			1,950	head	\$1,090,196			
600-700 lbs.			750	head	\$477,750			
Steer Calves (Total)					\$3,978,862			
Heifer Calves								
300-400 lbs.			3,050	head	\$1,229,653			
400-500 lbs.			810	head	\$376,711			
500-600 lbs.			1,050	head	\$554,227			
600-700 lbs.			600	head	\$358,800			
Heifer Calves (Total)					\$2,519,391			
Yearling Cattle								
600-700 lbs.			485	head	\$308,945			
700-800 lbs.			465	head	\$320,850			
Yearling Cattle (Total)					\$629,795			
Cow-Calf Pairs			2,035	pair	\$1,933,250			
Cull Cows			2,000	head	\$821,270			
Cull Bulls			235	head	\$215,836			
Cattle & Calves (Total)	308	15,420 No. Cows			\$10,098,403			
DAIRY								
Dairy Cows								
Milk	*	257 No. Adult Cows	3,376,793	•	\$556,495			
Bred Heifers				head	\$10,500			
Adult Cows				head	\$22,500			
Cull Cows				head	\$38,813			
Bull Calves			131	head	\$7,860			

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
DAIRY						
Dairy Cows (Total)						\$636,168
Dairy (Total)						\$636,168
HORSES						
Brood Mares						
Race Horses	9	55 N	No. Brood Mares	35	head	\$280,000
Show Horses	13	35 N	No. Brood Mares	10	head	\$35,000
Recreation Horses	22	320 N	No. Brood Mares	225	head	\$337,500
Brood Mares (Total)						\$652,500
Stud Fees						
Race Horses		10 N	No. Stallions	60	mares bred	\$120,000
Show Horses		2 1	No. Stallions	22	mares bred	\$33,000
Recreation Horses		10 N	No. Stallions	50	mares bred	\$10,000
Stud Fees (Total)						\$163,000
Race Horses	9			23	head	\$230,000
Show Horses	325			410	head	\$1,640,000
Recreation Horses	275			365	head	\$547,500
Horses (Total)						\$3,233,000
POULTRY						
Broilers	13			1,450,000	lbs.	\$1,087,500
Breeder Flocks	8	500 1	No. Birds	1,600	doz. hatching eggs sold	\$608
Poultry (Total)						\$1,088,108
SHEEP						
Feeder Lambs				29	head	\$1,740
Cull Sheep				4	head	\$220
Sheep (Total)	*		No.Breeding Ewes			\$1,960

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Show Goats			60	head	\$11,100
Slaughter Goats			200	head	\$21,000
Stocker Goats			80	head	\$6,800
Cull Goats			50	head	\$3,000
Goats (Total)	8	450 No. Does			\$41,900
SWINE					
Feeder Pigs			1,800	head	\$82,800
Slaughter Hogs			100	head	\$15,600
Culls			35	head	\$3,920
Swine (Total)	14	100 No. Sows			\$102,320
EXOTIC ANIMALS					•
Llama	*	5 No. Animals	3	head	\$4,050
Exotic Animals (Total)					\$4,050
TOTAL ALL ANIMAL EN	NTERPRISES				\$15,205,909
VERNON PARISH TO	TAL				\$102,395,468